_ ]

Part nr. 50201653

50301653_Bkitw8U_10U.doc Page 1 of 2 Copyright © 2008 Mastervolt Version: 080916EN



ASTERVOLT [ g

B-kit Whisper 8U, 9.5U, 10U and 11U Part nr. 50201653

Refer to the user’'s manual of the Whisper generator set for maintenance instructions!

CONTENTS OF THE DELIVERY
pos qty  article no description

1 3 50201035 Copper gasket ring 12x18x1,5 mm

2 1 50212622 Capacitor with wires 30uF 475V, kit

3 1 50201401 Cover cooling water pump M12

4 1 50201459 Bearing 40x80x18 mm (6208-22)

5 1 50201890 Rotating diode 6-11 kVA

6 1 50201451 O-ring bearing 80x2

7 3 50203034 Gasket fuel return injector M2

8 1 50205037 Gasket rocker cover M12

9 1 50205038 Gasket thermostat M12

10 3 50206040 Glow plug M12 M16

11 1 50205045 Thermostat M12

12 3 50203050 Nozzle tip injector M

13 1 50205120 V-belt Whisper 12 ULTRA

14 1 50203121 Qil filter including valve M

15 1 50209012 Gasket impeller waterpump

16 1 50209013 Impeller water pump K+M

17 2 50209014 Bearing imp. pump 12x28x8 mm (6001-2RS)
18 2 50209015 Seal impellerpump WA+RVS 12x22x7

19 1 50209016 Clip impellerpump large DIN472-28 type J
20 1 50209017 O-ring impellerpump NBR 70 12x2,5mm

21 6 50209018 Screws impellerpump Stainless ZKGR M4x8
22 2 50209019 Clip impellerpump small DIN471-11 type A
23 1 50209030 Fuelfilter

24 1 50212621 Capacitor with wires 25uF 475V, kit

25 1 50209201 Switch exhaust temp 90 degr C M16x1.5 NC
26 1 50209208 Switch coolant temp 110°C M16x1.5 NC

27 1 50209212 Oilpressure switch 0,5 single pole

28 2 50212154 Fuse blade type 3 Amp 32V violet

29 1 50212170 Fuse blade type 10 Amp 32V red

30 1 50245503 Spare case 510x261x230 with logo

31 1 50209210 Switch exhaust temp 90 degr C M16x1.5 NC
32 1 50212215 Relay with clamp 1 pol 12VDC 180A
TOTAL 50201653 B-KIT WHISPER 8ULTRA, 9.5ULTRA, 10ULTRA AND 11ULTRA

50301653_Bkitw8U_10U.doc Page 2 of 2 Copyright © 2008 Mastervolt Version: 080916EN



